[bookmark: _GoBack][image: ]
[image: ]
[image: ]
[image: ]


Answer Key
[image: ]
[image: ]
image6.png
1
i

c. There are more students because
there are 11 students for each teacher.

Rubric

a. 1point

b. 1 point

. 1 point for correct answer; 1 point for
correct explanation
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SELECTED RESPONSE Select all correct answers.
Select the correct answer.

1. A snow blower requires a fuel mixture
ratio of 40:1 (gas to oil). Which
expression represents this ratio?

40
®F

B 1x40
© 40x1

1
® 5

2. Arectangular yard is 10 feet long by
7 feet wide. What s the ratio of the width
of the yard to the perimeter of the yard?
R 7017
B 7034
© 171034

[OET

3. Steve earns $8 per hour. His older
brother eams $2 more per hour than
Steve. What s the ratio of the money
Steve earns in an hour to the money his
brother eams in an hour?

@ $810 $2
(B $210$8
@© $10t0$8

5. A punch bowl contained 2 liters of ginger

ale, 1 lter of orange juice, and 1 liter of

raspberry juice. Select all the true

statements

(A The ratio of the ginger ale to the
entire punch bowl is 110 4.

(B> The ratio of orange juice to ginger ale
is2t01

(© The ratio of the juices to the ginger
aleis 2102.

(D> The ratio of the entire punch bowl to
the juices is 210 4.

(> The ratio of the orange juice to the
raspberry juice is 110 1

A restaurant worker was told to make

‘every ham sandwich with 2 tomato slices

and 3 pickle slices. Select all true

statements

@ A worker makes three ham
sandwiches. Taken together, the
sandwiches will have a ratio of total
number of tomato slices to total
number of pickle slices of 6:9

(B> For every ham sandwich, the ratio of
tomato slices to pickle slices is 3:2.

(€ A worker makes five sandwiches.
The ratio of total number of tomato
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4. Aman mixed 2 teaspoons of sugar into
his large coffee but then added one more
teaspoon of sugar because it was not
sweet enough. What is the ratio of
teaspoons of sugar to one large coffee?
® 31
® 21
©13
@ 12

slices to total number of pickle slices
is 78,

(D> On every ham sandwich, the ratio of
tomato slices to pickle slices is 2:3.

(> Once a ham sandwich is made, there
will be a ratio of 2 tomato slices to 1
ham sandwich.

‘CONSTRUCTED RESPONSE

7. In Ken's meatball recipe, for every 5 cups
of bread crumbs, 9 pounds of ground
beef are used. Write this ratio using a
fraction. Label the numbers in the
fraction.
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8. For every pizza Eric’s family ate, Eric ate
2 of the 8 pieces. If Eric’s family bought
2 pizzas, write the ratio of the total
number of pieces Eric ate to the total
number of pieces the family ate.

9. A middle school has the fifth and sixth
grades. There are 100 fifth grade boys
and 110 fifth grade girls. There are
7 fewer sixth grade boys than fifth grade
boys, and there are 10 more sixth grade
girls than sixth grade boys What is the
ratio of girls to boys in the middle school?
‘Show your work

10. A particular school has a teacher to
student ratio of 1 teacher to 11 students
a. Express the teacher to student ratio
using the symbol *-".

11. On a package of rice, the directions say
that the ratio of cups of water to cups of

uncooked rice should be 1-%

a. Whatis the total number of cups of
ingredients needed if you want to

cook 1 cup of uncooked rce?

b. Susan says that the ratio of cups of
‘water to total cups of ingredients is
1:2 because there is twice as much
‘water as there is rice. Is this the
correct ratio? Explain why or why not,
and if not, give the correct ratio.

12. Atthe end of the season, Erica’s
basketball team has a win-to-loss ratio
of 3:2.

a. What s the ratio of wins to games
played?
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b. Express the teacher to student ratio

as a fraction. - 00
b. Can you use the ratio you found in
—_— part a to conclude that the total
c. Are there more teachers or students? number of games Erica’s team
Explain how you know. played in one season is 57 Explain

‘why or why not
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A
B
D
A
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5 cups of bread crumbs
9 pounds of ground beef
Rubric
1 point for correct ratio

8.4:16 0r 410 16 or
5

;s w N

Rubric
1 point for finding the correct quantities:
1 point for the correct ratio

9. The number of boys in fifth grade is 100,

and the number of boys in sixth grade is
100 - 7 =93, for a total of 100 + 93 = 193
boys in the middle school. The number of
fifth grade girls is 110, and the number of
sixth grade girls is 93 +10 =103, fora
total of 110 + 103 = 213 girls. The ratio of
girls to boys in the middle school is
213:193.
Rubric
1 point for correct answer; 2 points for
‘showing appropriate work

10. a. 1:11

1M.a 1%mps of ingredients.

b. No; there is twice as much water for
uncooked rice, but the amount of
water is not twice the total amount of
the ingredients. The ratio of cups of
water to total cups of ingredients

is 1:12
2

Rubric

a. 1 point

b. 1 point for knowing that the ratio in b is
not correct; 1 point for giving the
correct ratio

12.2.35

b. No; the ratio says that Erica wins
3 games for every 5 games played. It
does not tell you the total number of
games played.

Rubric

a. 1 point

b. 1 point for correct answer; 1 point for
‘appropriate explanation




